@Ee®E®
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Candidates must write the Q.P. Code on

the title page of the answer-book.

qe / NOTE :

(1)

(i1)

(iii)

(iv)

(v)

AT ST B W foh 39 TA-99 § gfgd I8 23 F |
Please check that this question paper contains 23 printed pages.

FUAT = H A Toh 30 IH-9T H 38T B |
Please check that this question paper contains 38 questions.

-9 § Qi 819 1 AR T U w-9F i i wlenell IT-gieaent % @98 W
fod |

Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

FHUAT T HT 3T TG & HH 8 Uge, IW-YIEaeh! H T9 T HHTh AT
ford |

Please write down the serial number of the question in the
answer-book before attempting it.

™ -9 H YA o forw 15 fire o wma fen e R 1 yeam @ faawn qats @
10.15 &1 ToRIT STQT | 10.15 S § 10.30 51 Toh BT hadl JTA-93 sl Teil 3K 34
3rafy o SNH o IT-YRhT T g ITR & fora |

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.

o (FFamah) E
MATHEMATICS (BASIC) =2
H4iRa &5 : 3 Tqve HlEgHaH 379 : 80
Time allowed : 3 hours Maximum Marks : 80
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T 3397 :
HETfeTiad 39T @1 Sga araer] & T 3R 371 T & 9T Sy

(i)
(it)
(iit)

39 Jv7-97 § 38 97 & | @¥t yv7 erfdard & 1

I8 J97-95 i @USl § [QYifSad 38— &, @, T, 905 & |

Gue & H Yo7 §&7 1 8 18 % sglasedid (MCQ) 79T o7 &Il 19 TF 20
SIrFYT Uq T SR 1 3% & J97 8 |

(iv) @S W H 97 q&IT21 @ 25 7% 3717 TG-ITIT (VSA) ¥HR & 2 37l & J97 3 |

(v) WUETY J97 &I 26 T 31 T TG-FHIT (SA) THR & 3 371 & J97 8 |

(vi) TS T H J97 G&I132 @ 35 T JH-IH1T (LA) TR & 5 37H & J97 8 /

(vii) WIS &F F Y97 G&IT 36 T 38 TF YHU eqq7 JTRT 4 3H & I97 & | 3%
JHT S7EFTT H STARF f[dheT 2 37k & Y97 8 10971 =7 & |

(viii) 99-99 H G857 399 757 3971 131 8 | 7afi, @ve @ & 2 Y941 H, @ve 7T & 2 go9)
R, @8 g &2 Yo 7 a9T @8 & & 3 Yo7 B aR® ldhcq &1 JaerT 1731 77
g/

(ix) &l TVTF &1 T HaIl FH15Y | T& v & m = % T, Iie 3T
7 fa77 797 31 |

(x) PP BT ITIIT FldT 3 |

Qus &
39 @IS H Fglahedid 97 &, 974 Yl 397 1 3% H1 & | 20x1=20
1. T ™ fF AABC~ADEF. 3 L/ A=55°,/E=45°%, Al L C3:

(A)  80° (B) 90°

(C) 55° (D)  45°

15-430/5/3
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(it)
(ii1)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take 1 = - wherever required, if not

stated.

Use of calculator is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each. 20x1=20

1.

It is given that A ABC ~A DEF. If £ A =55°, Z/ E =45°, then £ C is :
(A) 80° (B) 90°

(C) 55° (D)  45°

15-430/5/3 P.T.O.
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2. TS 16 cm 97 99 1 TH 18:5 cm e AW G &4 HSIAUS T &% 3

(A) 168 cm? (B) 148 cm?
(C) 154 cm?2 (D) 176 cm?

3. I tanZ0=3,&l 0 Th < IV 7, Al OH AH 3 :
(A)  30° (B) 60°
(C) 0° (D) 45°

4. IR x TH IO H&AT &, Al x o (¥ W | SISH 8¥ W 37 T A Bl & ?
(A) 6 B 4
<) 2 D) 0

5. < g 3epfd H, B9 ABC #, DE || BC g | I¢ AD = 2x cm,
AE=(X+2)cm,DB=4cm,EC=3cm%,?‘ﬁxwtﬂq%:

A 3 B 2
C) 6 (D) 4

6. 15 m 39 Tk fosicll o @H I Y W g Il B i @15 54/3 m 3 | 39
T 9 I 1 I7A @

(A 90° (B) 60°
(C) 45° (D)  30°

15-430/5/3
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2. The area of a sector of a circle of radius 16 cm cut off by an arc, which is
18:5 cm long, is :
(A) 168 cm? (B) 148 cm?
(C) 154 cm? (D) 176 cm?
3. If tan? 6 = 3, where 0 is an acute angle, then the value of 9 is :
(A) 30° (B) 60°
) 0° (D)  45°
4, If x is a whole number, then 8* ends with an even digit, except for which
value of x ?
(A) 6 B 4
C 2 D) 0

5. In the given figure, in A ABC, DE || BC. If AD = 2x ¢cm, AE = (x + 2) cm,
DB =4 c¢cm, EC = 3 cm, then the value of x is :

A) 3 B) 2
C) 6 (D) 4

6. A lamp post 15 m high, casts a shadow 5+/3 m long on the ground. The
Sun’s elevation at this moment is :
(A) 90° (B) 60°
(C) 45° (D) 30°

15-430/5/3 P.T.O.
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Ifd x=4sin0, y=4cos0 B, A (x2+y2) HIAA 7 :
1

A 4 (B) 1
© = D 16
16
fama Tfiehr x2 + 3x - 10=0Fh A & :
(A 5,2 B) -5,2
C) 5,-2 (D) -5,-2

%5 O 9T I W 9 foig A § 3 TRI@IE AP 3R AQ TER 90° % HIT W
I 7 | AR Ik TiEn i SR 2 em 7, A g9 B B R

(A) 4cm (B) 2cm

(C)  2V2 em (D) 1cm

RT3 40 3 30 % folt HCF x LCM # -
A 12 B) 120
(C) 1200 (D) 40

T SRERAT e W, Teh ol b HI-HH 10 2 3 o FAdTA HT UM 62 | 39
il 61 et ot @ R

(A) 6 B 7
c 8 (D) 12

15-430/5/3
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If x=4sin6, y =4 cos 0, then the value of (x2 + y?) is:

1

N ®

© L D) 16
16

The roots of the quadratic equation x2 + 3x—10=0 are:

(A) 5,2 (B) -5,2
(C) 5,-2 (D) -5,-2

AP and AQ are tangents drawn from an external point A to a circle with

centre O and inclined to each other at an angle of 90°. If the length of

each tangent is 2 cm, then the radius of the circle is :

(A) 4cm (B) 2cm
(C)  2V2 em (D) 1cm

HCF x LCM for the numbers 40 and 30 is :
A 12 B) 120
(C) 1200 (D) 40

In a frequency distribution, the mid-value of a class is 10 and the width

of the class is 6. The lower limit of the class is:
(A) 6 B 7
C) 8 D) 12

15-430/5/3

P.T.O.
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13.

14.

15.

16.

17.

TEAT 424 1 IYTST HEEA § :

(A) 2x53 x4 (B) 2x53x%x2
(C) 23x53 (D) 24x53
IRgeh TfRtoT I 2kx + 5y = 7, 6x + 5y = 11 1 shddl Teh Afgd™ & &I,
R
(A k=3 B) k#-3
1 1
C) k== D k#-—=
(©) ¢3 (D) # 3

fama THiehtor ax? + bx + ¢ = 0 % 7A@ IRatah TR = g, 9fc .

(A) b?2-4ac>0 (B) b?2-4ac=0

(C) b2-4ac<0 (D) b2-4ac>0

Ife Tk I i ¢ SR & &= 1 I 130° &, AT 37 BsAmeTl o &0 W =
W—Wﬁ%ﬁﬂﬂwg:

(A)  50° (B) 60°
C) 90° (D)  130°

12 cm T3 STt Tk I <hl Tk =19 hl @15 10m cm g | I8 =19 I o ohg T
T HEIT HIv ARG A B, TB B

(A)  120° B) 6°
(C) 75° (D)  150°

feigati A(- 2, 8) 3R B(- 6, 4) %! M a1t T@REE AB I A6 &
A)  (2,6) (B) (-4,12)
(C) (-4,6) (D) (4,-6)

15-430/5/3
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13.

14.

15.

16.

17.
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Prime factorisation of 424 is :
(A) 2x53x4 (B) 2x53x2
(C) 23x53 (D) 24x53

The pair of linear equations 2kx + 5y = 7, 6x + 5y = 11 have a unique

solution, if

(A k=#3 B) k#-3
1 1
©) k;tg (D) k¢—§

The roots of the quadratic equation ax? + bx + ¢ = 0 are real and distinct,
if

(A) b2-4ac>0 (B) b2-4ac=0

(C) b?%-4ac<0 (D) b2-4ac>0

If the angle between the two radii of a circle is 130°, then the angle
between the tangents at the ends of these radii, is :

(A)  50° (B) 60°

(C) 90° (D)  130°

The length of an arc of a circle with radius 12 cm is 10n cm. The central

angle subtended by this arc at the centre, is :
(A)  120° (B) 6°

(C) 75° (D) 150°

The mid-point of the line segment AB joining A(- 2, 8) and B(- 6, 4) is :
A  (2,6) B) (4,12

(C) (-4,6) (D) (4,-6)

15-430/5/3 P.T.O.



[=1 4308
=
=L

18. Wsq ‘MATHEMATICS ¥ Ush 38R ATgeadl IAT Sdl 2 | 38 A& & Th

‘T’ B 1 Tifrehar o B 2
3 4
W ®
5 7
(C) 11 (D) 11

J97 &I 19 3K 20 37TH7 UF T ST 597 & | & H97 130 70 & 574 v &)
STYFIT (A) T TR B 7% (R) GRT 37 91 7797 & | 57 F971 & @& IR 19 157
7T F1st (A), (B), (C) 3 (D) & & g7 G |

(A) AR (A) 3R Th (R) GHI Ha&l & IR @b (R), AR (A) i &l
ST T § |

(B) 3AfYHAT (A) 3R b (R) HT Tl &, Tg dob (R), 3 (A) hHl T&l
T g1 il 3 |

(C) 3fyehed (A) U& 8, Tg Toh (R) e & |

(D) AMHeH (A) TeId &, 9%-q % (R) T& 7 |

19. 37YHYT (A): T ITHT %l T, TCAT 8 TT B <hl JTRIhdT A (0) 7 |

T (R) : Teh TEYT T <hl TTIehdl I (0) BT % |

20. IHFIT(A): TAFR UG 5,1,-3,—7.. 1 99 T 473 |

7 (R) : AR 4G ag, ag, ag .., a, P HE IR YW B 3

d=an—an_1ﬁ |

15-430/5/3 Page 10
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18. A letter is chosen at random from the word ‘MATHEMATICS’. What is
the probability that it will be a ‘vowel’ ?

3 4
(A) 11 (B) 11

5 7
(C) 11 (D) 11

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),

(C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
19. Assertion (A) : The probability of getting number 8 on rolling a die is
zero (0).

Reason (R): The probability of an impossible event is zero (0).

20. Assertion (A) : Common difference of the AP. 5,1,-3,—-7 ....1s 4.

Reason (R): Common difference of the A.P. a, ay, a5 ...., a, is obtained

byd=a,—-a,_;.

15-430/5/3 Page 11 P.T.O.
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57 GUE T 37la TG-IRIT (VSA) FHR & J97 &, o780 I3 & 2 376 & | 5x2=10

21. Thfag A¥, S TH 90 % g ¥ 10 cm G W B, g0 W Gi= T8 Toid@n 6
TEE 6 cm @ | I I AT A1 HINT |

22, qﬁ%ﬂﬁﬂﬁﬂhz—x—2=oaﬂ@%§%,ﬁkwqﬂﬁﬁ@ml

23. (a) IR o, pTgud 9898 2x2 + Tx + 5% IR &, Al o + 2 + af H AH
1A HIFT |

AT

(b) e fgumd sg9g 6x2 + 37x — (p — 2) 1 Th I, UL [ h1 GoohA
2, @ p T WM 1 BT |

24. Jfc x = sin 60° cos 30° + cos 60° sin 30° %, @ x 1 H F1d hIFGT |

25. (a) 98 IUE W@ i fSEH fag (38, y), gatl (- 2, — 5) 3R (6, 3) =l
e Tt Targg ! faarford star 8 | y 1 9 oft 3a hife |

arere
(b)  y-31& W 3@ fog 1 F1d I S fagati A6, 5) 3 B(- 4, 3) § ¥AN
KU
QUg T
39 GUE § TY-FHIT (SA) FHR & F97 &, 578 Jcd%h & 3 3% & | 6x3=18

26. WgYE 3x2 - 5x —2 % B I HIY HN A qAT §GIE o Uehi 6 o
% HaY hl HeIal Sl A= HIWT |

27. To=g3ll A5, - 3) 3R B(- 4, 3) %l A i {@@E i TH-HWING & ard
foargati = fAdsres 3a <RIy |

15-430/5/3 Page 12
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SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21. The length of a tangent drawn to a circle from a point A, at a distance of
10 cm from the centre of the circle, is 6 cm. Find the radius of the circle.

22, If % is a root of the quadratic equation kx% — x — 2 = 0, then find the

value of k.

23. (a) If a, B are zeroes of the quadratic polynomial 2x2 + 7x + 5, then
find the value of o2 + B2 + of.

OR

(b)  If one zero of the quadratic polynomial 6x2 + 837x — (p — 2) is
reciprocal of the other, then find the value of p.

24. If x =sin 60° cos 30° + cos 60° sin 30°, then find the value of x.

25. (a) Find the ratio in which the point (3, y), divides the line segment
joining the points (- 2, — 5) and (6, 3). Also, find the value of y.

OR
(b)  Find a point on y-axis which is equidistant from the points A(6, 5)
and B(—4, 3).
SECTION C
This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. Find the zeroes of the polynomial 3x2 — 5x — 2 and verify the relationship
between the zeroes and the coefficients of the polynomial.

27. Find the coordinates of the points of trisection of the line segment joining
the points A(5, — 3) and B(— 4, 3).

15-430/5/3 Page 13 P.T.O.
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28. (a) Tag Fifvu fp foreft 9o & dfora TR Iy FH=gyS BIa1 2 |
JAqET
(b) fag AT for foreht w1 fog & 9u0 W ©i=h 78 Tei-Xanedt i cersat
SO BT B |
29. (a) 20 m Y3 1 Tk GHATE HYSTHR HEM % U i T T =18 Hl 14 m
et T ¥ Sty foan T ® | BeM % 3T W T &% [ shitere o
gIel =X T8l Hehdl B |
JAqET
(b) TH G I e H g5 H TE 14 cm 7 | 39 e &t g5 g
8:00 am 3T 8:05 am o S o 99T H I=Id &% I hIFT |
30. ﬁ@ﬁﬁm% 1+s1:nA =secA +tan A
1 -sinA
31. fug HIST % 6 + 32 T Uiy & 3, Safh faar w2 f6 V2
NS & B |
T uE ¥
39 GV H -3TIT (LA) YR & I97 &, 978 Jedb & 5 37% & / 4x5=20
32. (a) TUs B ABC &l Y9U AB, BC T97 HIEede AD Uéh 3= &Yl PQR
$I A YA PQ, QR dT Wifeyst PM % |HTUN @ | gIise ok
AABC ~APQR® |
JrqE
(b) Toag HINT fop afg Torelt IS T T Yol & THIR T g Y13l i
i forgati W ufd=sad e & fiu & @ Ei=t I, @ o7
o Tk & AT § fawiia aret § |
15-430/5/3
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28. (a) Prove that the parallelogram circumscribing a circle is a rhombus.

OR

(b)  Prove that the lengths of the tangents drawn from an external

point to a circle are equal.

29. (a) A horse is tied with a 14 m long rope at one corner of an
equilateral triangular field having side 20 m. Find the area of the

field where the horse cannot graze.

OR

(b)  The length of the minute hand of a clock is 14 cm. Find the area
swept by the minute hand between 8:00 am and 8:05 am.

30. Prove that M =sec A + tan A.
1-sinA

81. Prove that 6 + 342 is an irrational number, given that J2 is an

irrational number.

SECTION D

This section comprises Long Answer (LA) type questions of 5 marks each. 4x5=20

32. (a) Sides AB, BC and median AD of A ABC are respectively
proportional to sides PQ, QR and median PM of A PQR. Show that
A ABC ~ A PQR.

OR

(b)  Prove that if a line is drawn parallel to one side of a triangle to
intersect the other two sides at distinct points, then the other two

sides are divided in the same ratio.

15-430/5/3 Page 15 P.T.O.
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33. fymfaRad stisrg 225 F3tia o4l % Sfied 1 (92 H) % SR H JAHHAI Teid
Hd B

e et (i |)| oAl g
1500 — 2000 10
2000 — 2500 35
2500 — 3000 52
3000 — 3500 61
3500 — 4000 38
4000 — 4500 29

Teh Y Bl HIEIh STiaq hiced A hITT |

34. (a) U RGAMT Th 7 cm B39 o 3% o AR &1 g 9 GO &A1 & T
ALY W ARG 3 | 39 ety il Fo7 S 31 cm B | 39 Raeiy =
I SA%A [T HIT |

AT

(b) TAHE! & Ueh 39 J o Tdh R U Teh T Wigeh e |
THE! i Th a&g S8 Sl g | Al oo hl Sa15 15 cm R 3h
YR < BT 42 cm B, A 389 918 T8 9% H1 $A TS &% A
SHIfSe |

35. U 2-3ThII HEAT o 3ThI 1 AMHA 97 | SH T&AT hl Al AT, TE&IT h R
%! G W S H&AT 1 AT 2 | 98 HE1 H1d T |

15-430/5/3 Page 16
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33. The following data gives the information about the lifetimes (in hours) of
225 neon lamps :

Lifetime (in hours)| Number of lamps
1500 — 2000 10
2000 — 2500 35
2500 — 3000 52
3000 — 3500 61
3500 — 4000 38
4000 — 4500 29

Find the median lifetime of a lamp.

34. (a) A toy is in the form of a cone of radius 7 cm mounted on a
hemisphere of same radius. The total height of the toy is 31 cm.
Find the surface area of the toy.

OR

(b) A wooden article was made by scooping out a hemisphere from
each end of a solid cylinder. If the height of the cylinder is 15 cm
and its base is of radius 4:2 cm, then find the total surface area of
the article.

35. The sum of the digits of a 2-digit number is 9. Also, nine times this
number is twice the number obtained by reversing the order of the digits.
Find the number.

15-430/5/3 Page 17 P.T.O.
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59 @V 4 3 YU HeJIT HTETIRT J97 & [578 Jcdeb & 4 3% 5 | 3x4=12

36.

Th{0T FAETAA - 1

HT-ITAT ST o Gl TFY FHAA FHH T AR 40 m 1 g0 W @ & | gAI
QI I TAH TH o ST W g @H & e T g dr gl HEW T S
2 | T WA (coupling) ! fog C W @1 T 2, J&f al AR i Hd & (41
3Tehid H fe@mn m 7) |

3TYh AN oh YR R, F=fifad Tt & I T

(i) EW ABH 9T Fd hIfT | 1
(i) @Y PQH AT T hifoT | 1
(iii) (a) Ie G¥ PQ & TR =1, @H AB & R ®, 3T *I07 30° 3§,
@ gl BQ A VT | 2
Iroran
(b) I JW (coupling) THH & 20 m &l HaE W &, A BIC @Y AB
Y R o HY-H1Y I fehaft g W R 2 2

15-430/5/3 Page 18
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SECTION E

This section comprises 3 case study based questions of 4 marks each. 3x4=12

Case Study -1

36. Two poles of different heights stand on level ground and at a distance of
40 m. Both poles are supported by wires attached from the top of each
pole to the bottom of the other. A coupling is placed at point C, where the

two wires cross (as shown in the figure).

Based on the above information, answer the following questions :
1) Find the height of pole AB. 1
(ii))  Find the height of pole PQ. 1

(iii) (a) If the angle of elevation of the top of the pole PQ from the
top of the pole AB is 30°, find the distance BQ. 2

OR
(b)  If the coupling is at a height of 20 m from the ground, how
far down the wire from the smaller pole AB is the coupling ? 2

15-430/5/3 Page 19 P.T.O.
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ThT HAEIAT - 2

87. URIR GiEAT : TA % Th Td H Ig 9 T fob 39 99 % fofu, 93k T
AT § 51% IREW T s s=1 781 AT, 20% YRR H Tsh &=, 19% TN
T g o=, 7% INa J o1 o= 3T 3% INa § =9/ 41 31fees o= o |

T IR Ig=sdl AT a1 3 |
3T AR o YR R, HHfTRad T o I G

(i) I TN UNER H @ A1 A S oh BiF i TTREhdT 1A <hiTolg |

(i) Y T INER | Th § Afh SI=dl o §H hl JTRIhal AT hITrT |

(i) (a) g4 TCUNGR § dF & H = b g sl TTRIhal [T hIT |

AT

(b) T U URER H < ¥ AT F=Al o B hI TTREhAT [1d HIT |

15-430/5/3 Page 20
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Case Study - 2

37. Family structure : In a recent survey of this year, 51% of the families in
the United States of America had no children, 20% had one child, 19%
had two children, 7% had three children and 3% had four or more
children.

A family is selected at random.

Based on the above information, answer the following questions :

) Find the probability that the selected family has two or three
children. 1

(i1) Find the probability that the selected family has more than one
child. 1

(iii) (a) Find the probability that the selected family has less than
three children. 2
OR

(b)  Find the probability that the selected family has more than
two children. 2

15-430/5/3 Page 21 P.T.O.
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Th0T 3TETTAT - 3

38. gHA I Al 7 Tk 75 Sl h GhM Y& hl | JdI H TERA HH * faw 384
ugcl Uitk H 3 Sl d W, 38 Uitk H 5 el S W, A 9 § 7 e S[d

W@ 3 |

3ITYh TSR & IR T, Feaferfad sl & I € -
B3 itk W Toha ISt S0 W@ & ?
ugell 3 Bl Uitk & Tl St <t i § fohaan o7 ® 2

(1)
(i1)

(iii)

15-430/5/3

(a)

(b)

FTq hINT qgell 15 IRkl § ol fehal S[al <l Sifedl W@ T3
7|

AT

Ife <ot 9k § TGRM Al I T&H Sel T 500 i HHT T
Torsh! o for@t 7, a1 STa HITC Toh GHT 1 AT HA feha-1 gamT
HAT Tt Al I8 A o Se feR <veflt ufe # @it S[d R A

e e~ A X
Sifeat foes St @ |

Page 22
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Case Study - 3

38. Sumant’s mother started a new shoe shop. To display the shoes, she put
3 pairs of shoes in the 15t row, 5 pairs in the 224 row, 7 pairs in the 3td
row and so on.

Based on the above information, answer the following questions :

1)
(i1)

(iii)

15-430/5/3

How many pairs of shoes are displayed in the 6t® row ?

What is the difference of pairs of shoes in the 15t row and the
6th row ?

(a)  Find the total number of pairs of shoes displayed in the first
15 rows.

OR

(b)  If the pairs of shoes displayed in the 4t® row are ‘on sale’ at
price of ¥ 500 for each pair, then find the total amount
(money) earned by Sumant’s mother if all shoes displayed in
the 4th row are sold out.
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